| Unwrapping the unit circle.

Quad I Quad I Quad 111 Quad IV

Quad 111 3772 Isineis the triangle's vertical side l
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I Unwrapping the unit circle.

Quad I Quad 11 Quad 111 Quad 1V

Resa i 31y J Quad IV | | cos4is the triangle's horizontal side |
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Like the sine graph, the cosine graph will "repeat", making it a periodic function.

The graph will repeat every period of 27.
Remember that cosine is negative in Quadrants II and III (the x-coordinates are negative).

s ‘yér[\ Lolee ke




Y; A Sin (67( "'C> ’f'D or \j’_‘ A co$ [BX_C)-PD
]A]’- QMP[I+V~0{{
Y= D iy mid hae

¥ e ofdﬂl’”uork uith Wa“:».m

% We: r)ofMé, Pemn{ -FJ(‘ Sm@ J COJ‘Q (¢ 21
P@rl'oJi torricl_paried LI 2T

1 S

Phae SlmrF—f '. .——g’/ where SMYOL\ S7L6r7'5

desmos

Y=Sin [x)

@f I.QA.' fo(

Mey . )
@ xe3 +onv),
ey

2opoes: Ot AN ) Th, nej il

P&\’HQ{‘{) g D/M“y/ ) //"\I./\/ O



214 PM  Fri Apr 23
= Untitled Graph desmos

/\ L Bl

®) %= (2wt )x

odd w l—h\d@r of &

s
NEN
T

ﬂfd&-. T, Tn | r
o1t : L‘\V\ ’]‘/Mﬂ ——j
- 7 R A W e misedd

\pp\ {ern MAY) O)mm (O ymax

)( Noticed that in both graphs that over the course of the period of 2 pi, the zeros, Max, min are
located on a quarter of the interval. This implies that there is the rule of 1/4s for sine and
cosine the graphs will follow the pattern listed for each.
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